1921.350-GA.C022

saxe - ossa 0 rsx
1‘9 v O | Q\ T

l 6\/©@/ L
| =

RECOMMENDED HARDWARE

37

+0,4
- DRAWER” ('

CABINET
= CABINET - 25.4——/—

CABINET- M4 FLAT HEAD SCREW OR Mé EURO SCREW (#8 FLAT HEAD SCREW OR #6 FLAT HEAD SCREW)

DRAWER- M3 FLAT HEAD SCREW (#6 FLAT HEAD SCREW)

- X

g <
< <
SCALE 1:1
D4X8 —\ ® 5,5THRU \./ @ 7,5 X 90° OPPOSITE SIDE
v y—r O 5
+ b d————-— - ———0d - - E}é%
i
o \
O wnwLw oNe) ToWToNTol
— N ™M N 00 — N ™M
— — NDOM
+ 00 ™ .
: — &—- —6 - —a Q9
35— |
) ) Q ) @ 5,5 THRU
= h & N D 7,5X90°
OPPOSITE SIDE
o 2 < ™ N OO <M
N0 N O 0 O NDONHO —
A O —ANM O NN — — AN AN ANANN o™
0O | .
@)‘E?G O - [ — O—eoq — 60
® 5THRU
@ 5,5 THRU ®5,5X 8 THRU
N @ 7,5 X90° @ 6,5 THRU N 7,5 X90°
D 8,5X90°
— . e O @@———-—-@@e—,ﬁ
— >
270+3 351 -
general tolerances @G DIN ISO 128-30
missing dimensions see 3D
SO 2768-m = theor. intersection
This drawing remains our property and may not be multiplied neither be disclosed to third parties (§§1,3 and 5 from the copyright Act (UrhG))
covered according to DIN ISO 16016 scale: surface: | material, semi finished parts: A2
® 3:8 STEEL
0 date name | (technical requirements Fulterer)
(h drawn |09-07-2019| HB | description:
@ proven|00-00-0000| 00 | BOTTOM MOUNTED REGULAR
® EXTENSION ROLLER SLIDE
9 F~ultercr| POWDERCOATED
© Fulterer AG & Co KG | drawing number:
[®) A-6890 Lustenau / Austria _
@]Jo 00-00-0000| 0 Fulterer AG 1921.350-GA.C022
ind. changes date  |na. CH-9430 St. Margrethen  [replaces version date:

Montag, 3. August 2020 20:41:24

CADgast2




	BOTTOM MOUNTED REGULAR
	OPEN ISO
	SIDE VIEW CLOSED
	FRONT
	BACK
	CABINET HOLES
	SLIDE OPEN
	BUILD IN WIDTH
	TOP VIEW
	Detailansicht A (2 : 1)


